6-Reading Comprehension
Read the following passage then answer the questions below:
People grow two sets of teeth during their lifetimes — the primary or baby teeth, and the

second, permanent teeth. The first primary teeth appear when a child is about six months old.
The rest of them grow between the sixth and the thirtieth month, and there are only twenty
teeth in this set.
The permanent teeth in humans appear between the smxth and the fourteenth vears of

a child's life. In many cases, children still have their baby teeth as well as the permanent set, or
some of them. until they are about ten or twelve. This can look very odd., because the
permanent teeth are often bigger than the baby teeth, and because the first of the second set to
appear are usually the two front teeth, making the child look very funny. There are thirty-two
teeth in the second set, although the four wisdom teeth don't usually appear until the person is
in his or her late teens or early twenties. It 15 as well to remember that this set is the one you
will have for the rest of your life. so great care must be taken to make sure that they won't go
bad or have to be pulled out!

a) Choose the correct answer froma. b.candd : (6 X 2 =12 marks
1- What 1s the best title for this passage?

a. Our teeth b. Our school c. Babies d. our lives
2- The underlined pronoun " them " in the 2™ paragraph refersto:

a. teeth b. children c. people d. humans
3- What is the meaning of the underlined word " appear " in the 2™ paragraph?
a. be seen b. hide c. suffer d. steer

4- What 1s the purpose of the writer in this passage?

a- fo suggest ways to have healthy teeth
b- to inform us that adults have 32 teeth

c- to tell us about the two sets of teeth duning lifetimes
d-to show that permanent teeth are often bigger than the baby teeth
5- The first primary teeth appear when a cluld 1s:

a- between the sixth and the tenth years b- about sixteen months old.
c- two months d- about six months old.
6-According to the passage, all the following statements are TRUE except:

a- There are two sets of teeth dunng life fime.
b-Great care must be taken for permanent teeth.
c-Permanent teeth are often smaller than the baby teeth

d-Wisdom teeth don't usually appear until the person 1s in his or her late teens.
B)-Answer the following questions : (2 X2 =4

7. Why should one be very careful about his second set of teeth?




5-Reading Comprehension

Read the following passage then answer the guestions below:
Louis Braille was born in 1809 1n a village in France. When he was only three years

old, he had an accident while he was plaving in his father's shop and became blind. His
father tried to teach poor Louis how to read but he couldn’t. Young Louis was very clever.
He was also very good at music. At that time the blind were trying to read and write in
different ways, but it was very difficult for them. Something should happen to enable the
blind to read.

When Lowis was sixteen vears old, he had the idea of using dots, so Ji¢ invented this kand
of reading and writing by touching dots with the fingers. This 1s really the same way the blind
use today. In 1828 Louis worked as a teacher for the blind. He died in January 1852 at the age
of forty-three. Nowadays mullions of blind people can read Braille in many languages. The
blind can read in Arabic foo.

We shouldn't forget to respect and encourage people who serve the humanity. In the Arab
world, there isn’t enough encouragement to the disabled or talented people. Sometimes, our
societies 1gnore them.

a) Choose the correct answer froma. b.candd : (6 X 2 =12 marks

1- What 1s the best title for this passage?

a- A Clever Blind Man b- A Clever Father

c- A Clever Teacher d- Braille Way of Reading
2- The underlined pronoun " he " in the 2* paragraph refersto:

a- Louis b- Louis's father

c- A village d- the Arab world
3- What is the meaning of the underlined word " humanitv " in the 3%

paragraph? a- kind people b- animal kingdom

c- bad people d- people in general

4- What is the purpose of the writer in this passage?
a- to tell us about the Braille story  b- to inform that Braille worked as a teacher
c- to persuade yvou of Lomse accident d- to decide that Arab societies ignore talented people
5- Young Louts was very:
a- angry b-stupid c- proud d- intelligent
0- According to the passage, all the following statements are NOT TRUE except:
a- Louis Braille was born in 1909 b- Louis worked as a teacher i 1882

c- Braille can be read in Arabic. d- Louise was bom in January 1852
Bl-Answer the following questions : (2 X2=4)

7- How did Louis Braille become blind?

8- In what way did Louis Bratlle help the blind?



4-Reading Comprehension
Read the following passage then answer the questions below:

The dictionary 1s the most important tool for all language leamers. It gives them the
different meanings and spellings of words. Most dictionaries help to pronounce words correctly
by providing pronunciation and phonetic symbols. Moreover, they show the learners how fo use
the words correctly by giving them examples in meaningful sentences.

When vou find a new word 1n a comprehension passage, it 1s not a good way to think
directly of using the dictionary all the time to know its meaning. It is better for you to trv first
to understand the main idea of the passage and guess ifs meaning. Second, don't forget to look
at the opposite of the word and try to remember it. If these two ways are not helpful, get the
dictionary then and look it up. You will find different meaning for one word. You infer the
suitable meaning through the text.

Some books have a mini-dictionary at their backs. The electromc dictionanes are the
latest. They have more advantages than the printed ones because they are easy to download and
carry, vou can take them with you everywhere and listen clearly to the correct way of
pronouncing words. Fortunately, smart phones can be supplied with different dictionary
applications.

a) Choose the correct answer froma. b.candd: (6 X2=12 marks )

1- What 1s the best title for this passage?

a) Phonetic Symbols b) Language Learners

¢) The importance of dictionanes d) New words
2- The underlined pronoun " their " in the 3rdparagraph refers to:

a) exams b) books ¢) symbols d) meanings
3- What is the opposite of the underlined word "remember” in the 2ud paragraph?

a) find b) guess c) forget d) try

4- What 15 the purpose of the wrifer in this passage?
a- to suggest ways to get dictionanes
b- to inform us that smart phones have dictionaries.
c- to tell us about the most important tool for language learners
d- to show how we guess the meaning of words
5- The electronic dictionaries:
a- used at home only b- were very old
c- aren't better than the printed ones d- have pronunciation
6- According to the passage, all the following statements are NOT TRUE except:
a- Most dictionaries don’t have pronunciation or phonefic symbols.
b- You should directly use a dictionary when you don’t know the meamng of a word.
c- It's impossible to download a dictionary on smart phones
d-Some dictionaries give examples and use the words 1n meamngful sentences

B)-Answer the following questions: (2 X2=4)

7- What are the advantages of the electronic dictionanes?

8- Why 1s using the dictionary all the time directly is not a correct way?




2- Reading Comprehension (16 Ms)

Read the following passage carefully then answer the questions below:

From far out in space, Earth looks like a blue ball. Smce water covers three-fourths of
the Earth's surface. blue is the colour we see most. The continents look brown. like small
1slands floating m the huge. blue sea. White clouds wrap around the Earth like a light
blanket. The Earth is shaped like a sphere, or a ball. It would take vears to walk around the
whole planet.

A spaceship can fly around the widest part of the sphere mn only 90 minutes.

Even though spaceships have travelled to the Moon, people cannot visit the Moon

without special suits. The Moon has no air or water. Plants and animals can’t live there
either. Astronauts first landed on the Moon 1n 1969, After that, there were six more trips to
the Moon. Theyv brought back Moon rocks, which scientists are still studying.

The Sun 15 the closest star to Earth. A star is a hot ball of burning gas. The Sun looks
very big. But the Sun 15 just a medmm-sized star. The burning gases from the Sun are so hot
that they warm the Earth. Even though the Sun is always glowing, the night here on Earth i3
dark. That's because the Earth turns around, every 24 hours. Durning the day, the Earth faces
the Sun. Then we see light. Durng the night, the Earth turns away from the Sun. Then it
faces the darkness of space. Each day we learn more about the Earth_ the Moon, and the Sun.

a) Choose the correct answer froma. b.candd: (6 X 2=12 marks )
1- What 15 the best title of the text?

a) Our Planet Erath. b)The Closest Star to Earth.

¢) The Earth. The Moon and The Sun. d) The First Visit to The Moon.
2- What 1s the meaning of the underlined word (wrap) in line 37

a) cover b) float c) look d) shape
3- What does the pronoun (it) m line (4) refer to?

a) the space b) the star c) the Earth d) the sun

4- According fo the text, what the purpose of wniting the text?
a) to give information about the sun, the earth and the moon  b) to say there 15 no life on Earth

¢) to say that life on Earth is dangerous. d) to say the sun 15 small star.
5- According fo the passage, all of the following statements are NOT TRUE except:
a)Plants and animals can live on the moon. b) There 15 no air or water on the moon
c) People can live on the moon. d) The first trip to the moon was in 1996
6- What 1s the closest star to Earth? .
a) the moon b) the sun c) Venus d) Pluto

(2=

B)-Answer the following questions : (2X2=4)

7-Why is blue the colour we see most when looking at Earth from outer space?



1- Reading Comprehension (16 Ms)

Read the following passage carefullv then answer the questions below:

Polar bears will be extinct by the end of the 21st century if the global warming continues to
this constant rate. Temperatures are rising in the Arctic. It 15 the only place where polar bears are
found. This change of nature 15 having a strong effect on the health and numbers of the world's
population of polar bears.

During the winter, polar bears live and hunt on the sea ice. They travel for many kilometers
to catch their main food. which 1s the seal. Through the ice, polar bears can feel the movement
of a seal. They sit close to a hole in the ice and wait for the seal to come up for air.

In summer, as the ice melts, some bears return to the shore, fasting until the colder weather and
sea ice refum. Others continve to hunt. They swim m the icy water until they reach floating sea ice
where they can waif for a seal. Bears who have been fasting all summer weigh less and are weak.
They have lost too mmuch of their fat, which is needed to keep them warm and as a source of energy.

Global warming has increased the temperature in the Arctic so much that the warmer weather
comes sooner each vear and it lasts longer It has been predicted that by the end of this century
there will be no sea ice left. As the temperature continues to nise, the cold winter will be much
shorter.

a) Choose the correct answer froma. b.candd : (6 X 2 =12 marks )

1) Which of the following 15 the title for this story?

a. Temperature of Arctic b. The 21z Century summer
c. Global Warming d. Polar Bears Life
2) The underlined word ‘It ‘in the (1%) paragraph refers to:
a. the temperature b. the seal c. the arctic d. the polar bears

3) What 1s the author’s purpose in wnting this text?
a tell us about the bad effects of global warming on polar bears.
b. inform us about the floating of sea ice
c. explain how polar bears hunt 1n winter.
d. compare between polar bears and gnzzly bears .
4) What 15 the meaning of the underlined word , increased’ in the 4" paragraph?

a. got colder b. got fatter c. got higher d. got taller

5) Why do some bears weigh less 7
a. They feed on seals only b. They live in the north pole
c. They have been fasting all summer d. The weather is very cold

6)All the following statements about polar bears are TRUE except:
a. Polar bears eat penguins and birds
b. Temperatures are nsing in the Arctic.
. The cold winter will be much shorter.
d. In summer some bears weigh less.

Bl-Answer the following questions: (2 X2=4)
T)Why are temperatures rising in the Arctic ?




3- Reading Comprehension (16 M)
Fead the following pas:age then answer the questons below:
Cats plaved an important role in ancient Egypt. Ancient Ezypaans believed that cats protected their
life, and they took cats as pets. The populanty of Egyptian cats is found in the many ancient Egyptian

paimntings and carved stone statwes.

Cats and Egypt share 3 long and interesting history. Many cat experts believe that ancient Exypians
were the first to keep cats at home. At first, it was a practical matter as cats wers brought in o protect
homes from pests like rats and cockroaches. Eventually though ancient Epyptians; especially the wealthy,
staried o adopt cats as pets. Paintings on tombs and other buildings show spotted, slender cats, which are
believed to be the first domestic cats. It is believed that these early Egyptian cats were the ancestors of the
Egyptian Man This kind is not as well-known as other cat kinds.

Whoever killed a cat in ancient Ezxypt was put to death. Amazingly, there were also laws preventing
the exportation of cats. Anclent Egypiians loved cats and were very sad whenever any of the famuly cats
dred. Cats were kept and even mmumnufied after death Cat tombs have been discovered along the Fiver
biile and cat nuunmies can be found in the tombs of many Egyphians.

Mowadays, cats are part of the homes of many people around the world. People love their company.
Some can't live without having cats as fmends. They take pood care of them by providing food and taking

them o doctors when necessary.
a) Choose the best answer from a, b, ¢ & d: (6x2=11 Al
1- What 15 the best title of the passage?
a) Cats’ Tombs  b) Cats Nowadays ) Cats in Ancient Ezypt ) Ancient Exyptians
2- The opposite of the underimed word "ancient” m the 15t pazgeph =:

a) clear b) reachable ¢) modern d) mecessary
3- The underhned word "them" 1 the 4th paragraph refers to:
a) bomes b) people C) cats d) fnends
4- In ancient Ezyvpt, cats were kept as pets, especially by:
a) experts b) doctors ) rich people d) poor peaple
5- When a farmly cat died m Ancient Egypt, the fanmly felf...
a) happy b) sad ) excited d) amazed

8- The wnter's purpose for wnitimg thas text 15 to:

a) show us the importance of cats as pets.  b) tell ws cats were important for the ancient Ezyvphans.
) compare between pets in the past and nowadays. d) tell us that people have to keep pets at home.
b) Answer the following questions: (IXI=4 Al

7- What happened to those who kalled cats n ancient Egvpt?

3-How do experts know that cats were very popular in Ancient Egvpt?

........................................................................... . Frepared by: Mr. Muststa Al lendi [ 60 ]



4- Reading Comprehension (16 M)

Eead the followins passare then answer the guestions below:

It 1= bad to have food stuck between your teeth for long penods of tme. This 15 because
food atfracts perme, which produce acid. and acid burts vour teeth and gume. Flossimg helps to
remove the food that zets stuck between vour teeth. It has been wadely accepted that the use of floss
has a favorable effect on plaque removal and disease prevention more than regular brushms,

The Amencan Dental Associaton which provided many mesearches on dental bealth
1ssues, reports that up to 30% of plague can be removed with flossing. This fact explams why
flossme helps to keep vour mouth bealthy, but some doctors say that it can be also zood for vour
heart. It mav seem strange that something vou do for your teeth can have any effect on vour heart.

Omne 1dea 15 that the perme that it vour teeth can leave the mouth and travel mto vour
blood Germs that get mto the blood can attack your beart. Another 1dea 15 based on the fact that
when there are too many germe 1n your mouth, the body tnes to fight against these germs. For some
reason, the way the body fights these mouth germs may end up weakemng the heart over ime.

Some doctors think that people who have bad flossmg habats also have heart problems, and
people who have good flossing habits have healthy hearts. The theory that flossing vour teeth helps
to keep vour heart healthy mmght not be true. But every doctor agrees that floszing 15 a great wav to
keep vour teeth healthy.

a) Choose the best answers from a, b, ¢ and d: (6x1)=12 Marks.
9. The smitable aitle for this passage 15:

a) Teeth Problems b} Fightmg Teeth Gerne

¢} How to Brush Your Teeth d} A Healthy Heart by Flossing
10. The meamng of the underhned word “atiracts" in paragraph (1) 1s:

a) pushes b) pulls c) loses d) force
11. The underhned word "it" in paragraph (1) refers to?

a) fact b) plaque ¢} mouth d) flossing
12, Omne of the major benefit: of flozsing is:

a) weakemng vour heart over me. k) helpmg zerms to reach vour blood

¢) preventing food from entening vour body  d) removing the food that stuck between teath.
13, The health of your mouth can be badly- affected by
a) Preventing diseases, b) fightine mouth germs.
¢) acad that bt your gum. d) removing the remains of food.
14, The purpose of the writer from thiz passaze to :
a) teach people howr to floss. b) show the difference between flossaing and brushing .
¢) prove that doctors have researches on flossmg . d) ensure the mportance of flos=mg.
b) Answer the following gquestion: (2x2)=4 AL,
1=, What do doctors recommend people to do to keep their teeth healthy”




5- Reading Comprehension {16 M)

Eead the following passage then answer the questons below:

Would vou hke to become a "fteleworker'? Teleworkers are people who work for
compames, but not m compames. This means that they do company work at home, usnzally on
computers. Teleworkers commumicate with their bosses by mobile phones or e-mals. They usually
send mnformation from thewr own computer to the office computer by the Internet.

"Teleworking” 15 becommng more and more popular m Botam, USA and other countnes all
over the world. There are many reasons for this development. The biggest advantaze for compames
15 that teleworkimg lowers the compames' spending of monev. Having fewer workers at work means
having less office space. Also, computers are now qucker and easer to use, and the pnices keep
going down. For a company, 1t 1= cheaper to tran people on computer skills and gve them 2
personal computer to use at home.

However, before vou apply for a job as a teleworker, vou should ask vourself if 1t 15 really
the best thing for you. Bill Smath, who works for a g company, has not emoved his last three
months at home. He often fall= azleep at the computer because he does not have anvbody to talk to
at home. He decides to leave lns job as a teleworker and start a new job m a company where there
are five other people mn one small office.

a. Choose the best completion from a, b, ¢ and d: (6 X 2 =12 Marks)
9. The best title for this passage could be:

a) Office Jobs b) Commumicahons d) Teleworkers ¢} Computer Sklls
10. The underhned word “popular” m the 2nd paragraph means:
a) cheap ¢) exciing k) common d) expensive
11. The underhned pronoun "them" n the 2nd paragraph refers to:
3} reasons b) skalls d) counfries ¢) people
12. According to the text, all the followimgz statements are NOT TRUE EXCEPT:
a) teleworkers work m small offices b) teleworkers work wath other colleagues
¢) teleworkers don't work at home d) teleworkers work for a company at home
13. Having computer skills 15
a) important to apply for an office job b) ot useful for teleworkers

¢) unnecessary for Information Technology (TT)  d) a bz nmstake for emplovees nowadays
14. The wnter wrote this passage to:

a) warn us of teleworkmg b} advise us to start teleworkmz

¢) explam teleworker's job d) suzgest new ways to 1mprove teleworking
b. Answer the following questions : (2 X 1= 4 Marks)
15. How do teleworkers commumicate with ther bosses in compames?

16. Why doesn't Ball Soumth hke s job as a teleworker?



B- Reading Comprehension (16 M)
Eead the following passage then answer the guesoons below:

Shoes | we wear them nearly every day. Yet we hardly thmk about them because they are
such an ordmary part of our daily hves. The ancient Greeks and Egyphans made and wore sandals.
but actually went without shoes most of the time. These people Inved 1 areas where the weather
was fme, and shoes were ot needed to keep their feet warm

In anment Egypt, the fust shoes were simple sandals fo protect thewr feet from rough
srfaces. The easiest way to make shoes i these ancient times was to use matenals that were
avalable, meluding tree leaves and grasses.

Centunes later, the Romans wore sandals omch hke the Ezvptians did. Thev used pieces of
leather to make them. Some Foman sandals had staps, hke belts, wrapped around the ankles.
Shoemakers often dyed these sandals i brght colowrs that represented the jobs done by the people
weanng them. Women wore brown sandals with moon-shaped stones on the back. The nobles wore
red sandals. Officers wore white sandals. Soldiers wore heavy leather sandals that were more hike
boots but with uncoverad toes!

Shoes have come a long way since the ancient Egyphans created thewr first sandals.
Nowadays, compames are desigrng different types of shoes for different purposes. Many mare
tvpes of soft matenals such as rubber and camvas are used, and shoes have pever been more
comfortable for feet Even so. 1t 15 mteresting that the sandals. erafted by the Exyptians more than
four thousand vears ago, shll are very smmlar to shoes we wear foday.

a) Choose the best answer from a, b, ¢ & d: (6x2=12 A}
1- The maimn 1dea of the 2* parazraph 1=
a)The ancient Ezyptians wore simple sandals. b) The ancient Esypdans desirned different types of shoes.
¢)The ancient Egypian: usad leather to make sandals. d) The ancient Egyptians worked in different jobs.
1 The underbned word “crafted” m the lazt paragraph means:
z) led b) mezant ¢) made d) forgot

3. The underhmed word "that" 1 the 3 rd parazraph refers to:

a) brght colowr=  b) moon-shaped stones ¢) brown sandals  d) heavy leather sandal=
4. In ancient Egvpt, people wore zandals:

a) to keep thewr feet warm. b) that are totally different from shoes we wear today.

¢) that looked hike boots. d) to protect thewr feet from rough swfaces.
=, All the following statements are NOT TREUE except:

a) The Romans used tree leaves o make sandals.  b) The Fomsan women wore heavy black sandals.

) The Fomans wore sandals of different colours. d) The Fomans were the first people to wear sandals.
6. The purpoze of the writer in writing the paszage is to:

a) compare between sandals and boots. b) mform us about the lnstory of shoes.

¢} discuss the importance of weanng shoes.  d) desenbe bow shoes wall look hke in the future.
b) Answer the following guestions: (2X21=4 A}
7. Why did the ancient Greels and Egyptians go without shoes most of the time”

8. What make: shoe: comfortable nowadays?




7- Reading Comprehension (16 M)
Read the following passage then answer the quesnons below:

Miany people dream of going on zreat travel adventures. Most of them keep dreanung others
make 1t kappen More than 10 vears ago, a Spamish lawver named Alvare, gave up a good job and
left a comfortable hife to cyvele around the world. Ten vears and almost 100,000 kilometers later, he
15 still very happy with s decision.

“You hive only once and Iife m an office 150t a ife.” He says He began i jowmey m South
Amenca. The fust country be visited 15 Bolivia. Since he set out on lus adventure, he has visited
more than 60 countries.

The joumney has already taken him to three continents and most of Asia sall hes ahead He s
cwrently cvelmg through Mongoha and Japan 15 the nest country on us route He spends two or
three months m each country, but he has never stopped off for more than five davs m one place.
Alvaro 15 getting bv on a budget of three dollars a day. and he has slept in fire stahons, churches,
and m the mountams of Nepal

He's ziven more than 60 performances to 30,000 people. “My show mmecludes juzghng, nmsic,
magc acrobaties and theatre. "] perform to the poorest people and my purpose 15 to brng them a
ittle happmess " savs Alvaro. He explains that the tip 15 a way of bnnging together three things he
loves most m hife Cyching's m my blood. I'm a bom clown and I emov helping people.” He1s
supported by s fans and hos aim 15 to bnng a sowle mio the Irves of the people.

a) Choose the best answer from a, b, ¢ & d: (6x2=11 Al
1-What 15 the mam idea of the 4 th parazraph?

a) The pupose of the frip b} Life m an office

¢) Cychng 15 2 zood hobby d) Travelling round the world
- The underlined word" getting by " in paragraph 3 means:

a) lving on b) preving on ¢) converting 1nto d) embarking cn
3. The underlined pronoun them in paragraph 4 refers to:

a) poorest pecple b) performances ¢) chrches d) mountams
4. Alvaro was supported mn hiz journey by:

a) other lawyers b) lus fans ¢} Spamsh pecple d) all countries
5. According to the text, one of the following sentences 1: NOT TRUE

a) It1=n't easy to go on gyeat adventures k) Alvaro has visited more than 60 counfries

¢) Alvaro doesn't hke theatre or jugglmg d) Alvaro 15 very satisfied with lns decision
6 . The purpose of the writer in this text iz to

a) entertain people with a fimny story b} inform us about benefits of cychng

) persuzde people to prachice acrobaties d) encourage people to do voluntary work
b) Answer the following guestions: (2xI=4 Al
T-What are the three thmg: Alvaro love: most in hfe?




8- Reading Comprehension (16 M)
Read the following passage then answer the questions below:

We can never evaluate or judge people by theiwr socal levels | whether high or low, or by
ther zood appearance or beauty. It 15 thewr persomality and wuseful help m developmg ther
community that make them valied . Every society has vanous members, each one 15 doing a
certamn job working for the good of others There are engmeers, lawvers, mdges, doctors teachers
and busmessmen If they do thexr jobs honestly, properly and efficiently. the socety will develop
and become more advanced mn all fields of hife .

Mo one can simply win respect and honour because he holds a high job, or lngh somal
level, but because be 15 farthfnl to s country and ready to work hard for it hixowry. If he fals to do
hiz work m a good way, he wall lose people's trust. A doctor 15 not better than a farmer or a
mechame just because he has lngh educahon. Our society needs all different jobs. If one job 15 not
available, we will face many problems.

What makes us prefer someone to the other 15 hes honest human behaviour and s excellent
performance 1 s job. A doctor who cares more about makmms money than s patients 15 as bad
as, of even worse than a lazy farmer. That 15 why people should know therr potenhials and mprove
them=elves by conhmous taimng, research and practice .The more vou mmprove m yvour woik, the

better vou wall be valued and respected.
A- Chooze the correct answer from a, b, ¢ and d: (6 > 2 =13A0

9 The swmtable title for thus passage 15:

a) Money and work b) Farmers and Doctors
) Business and problems d) You Are What You Do
10. The underhned word (comupupity) m paragraph (1) means:
a) value b} heoary ¢} society d) behavour

11.We can evaluate and mudgze people by ther

a) lngh jobs bl socal levels ¢} useful help to the society  d) good appearance.

12. The underlmed pronoun “he” in paragraph 2, refers to:

a) doctor b) farmer ¢) mechame d) no one

13. According to the reading passage one of the followang sentences 1= NOT TRUE:

a) Societes need all different kinds of jobs b)) We should respact people who do their jobs properly
) Good training is Importand o improve yourself  d) A good person only cares sbowt making money
14. The purpose of the wniter in thas passage 15 fo :

a) advise us to smdy hard to get high education b) show us how to evaluate and mdge people

) suZgest many ways fo Improve our appearances  d) tell us about the importance of high social leveals
B- Answer the following guestions, according to the passage: (2 = I =4A0)
15, What happens 1f everyone 1 the society doesn't do s work properly?




9. Reading Comprehension (16 M)
Eead the following passage then answer the gquestions below:

Olctopuses are extremely mtelhzent ammals. They have even learnt some ticks to get them
out of difficult situzhons, as for example, when thev are afrmd of an enemyy. A= octopuses don't
have testh or sharp nails to defend themselves, they lude themselves m the sand on the bottom of
the ocean floor. The octopus 15 hike a hzard because 1t can change the colour of its skin to match the
sand. This colour change happens 1o less than a pmmate.

Some octopuses hke to stay pear the beach where there are rocks, corals and less
enenmes. Because octopuses don't have bones, they can squeeze themselves mto small spaces
between the rocks to get out of reach of enermes. Another way an octopus can lnde 15 by shooting
mk. An octopus uses a part of 1ts body to shoot ik mito the water. The mnk forms a cloud that lndes
the octopus.

If an octopus 15 bemg attacked, 1t can actually make itself look hke a sea snake. It wall
bury itself m the sand, keeping two amms seen. It wall change the colowr of those arms to match a
sea snake But 1if there's no tume to lnde!, or If an octopus 15 m trouble, 1t can break off one of 1ts
armys. The arm will then change colowrs and move around the water while the octopus swine away
to safety. The octopus's arm wall grow back.

a) Choose the correct answer from a, b, ¢ and d: {(6x2=12 marks)
9. What 15 the best title for this passage?

) An Intellizent Animal b} The Ocean ¢} Sea Ammals  d) Wild Amomals
10. The underhined word " break off " 1n the 3rd paragraph means:

a) keep b) hade ¢) cut d) escape
11- The underhned word ™ they " 1n the 2nd paragraph refers to:

a) rocks b} enemmes ) corals d) octopuses
12. Octopuses can squeeze themsslves mto small spaces between the rocks because they:

a) look hke a sea snake. b) don't have bones.

¢} can change then colour. d) hke staying m shallow water.

13. All the following statements are TRUE EXCEPT:
a) The octopus's arm won't zrow back. b} The octopus takes hittle tme to change 1t= colour.
¢} some octopuses hike staving near the beach.  d) The octopus has some tncks to surave.

14. The author's pupose m wnhng the passage 15 to:
a) inform us about the octopus’ survival tncks. b) persuade us to vzt the sea.
¢} grve advice to leamn swmoung. d} explaim how to deal with enemmes.

h) With reference to the paszame answer the followine guestions: (2x2=4 marks:)
13. In what way 15 the octopus hke a hzard?




10- Reading Comprehension (16 M)
Eead the following passage then answer the guestions below:
Ihd vou know that zleep 12 more mportant than food? A person who does not sleep dies
at a vounger age than a2 person who does not eat. We spend about one-third of owr lives m sleep.

How much sleep do we need? The amount of sleep people need depends on dufferent things,
mchiding age. Most healthy adults need between 7 to © howrs of sleep each mzht to work at ther
best. Cluldren and teens need even more. After the age of 30, people get only 5.5 to 6.5 hours of
sleep each mzht. We need less sleep as we get older .

Most people have some mghts when they cannot sleep. Poor sleep mcreases the risk of
accidents and other 1llnesses hike heart diseases. It may al=o lead to poor memory. Gettmg too mmch
sleep mav not be good for people erther. Too mmeh zleep 15 inked to sickness .

Many famous people 1 history had a problem falling asleep. Some of these people had special
ideas to make them sleep. For example, King Lowms XIV of France had 413 beds. He moved from
one to the other hopmg to fall asleep.

Making simple bat important changes to your daily habits can have a great impact on how well you
cleep. To sleep befter at night, experts suzzest exercising regularly and gommg fo slesp at the same time
every dav especially on weekends. They also smuzzest avolding heavy meals late in the evenng.

a) Choose the correct answer froma. b.cand d: { 6 x 2 =12 Marks)
9. What 15 the main 1dea of the 2 nd paragraph?
a. Lack of sleep can lead to death.  d. How mmich sleep we need differs from person to person.
¢. We need to sleep mn order to be healthy. d. Many people face difficulty sleeping at mght.
10. The wnderhned word ‘rizk’ m the 3 rd paragraph means:

a. type b. way . danger d. reason
11. The underlhined word “They”' m the 5 th paragraph refers to:

a. changes b. habuts €. experts d. weekend=
12. What happens when we get older?

a. We sleep 2 lot maore. b. We sleep less than before.

¢. We need 7-9 hours of sleep. d. We can’t sleep at all.

13. According to the passage, which of the followmng sentences 1= NOT TRUE?
a. We spend one-third of our hifehime slesping. b. Getting too mmuch sleep 15 zood for us.
¢. Most people find 1t difficult sometimes to sleep at mght.
d. Eing Lowms XTIV had 413 beds to help hom fall asleep.
14. What 15 the author’s purpose In wmitmg ths text?
a. To hst the different types of sleep.  d. To @ive information about sleep and 1ts 1mportance.
¢. To compare children 's and adults’ sleeping haluts. b. To tell us about famous people m hestory.
b} Answer the following questions: (2 X 1 =4 Marks)
15. What are the dangers of poor sleep?




